CS 225
Reading Questions for Section 6.4
Due Thursday 3-7-13, 10 AM
Please read Section 6.4 (Heaps and Heapsort) and respond to the following.
1. Which variation of transform-and-conquer best describes heapsort?
2. A priority queue is an abstract data type (ADT).  It consists of a multiset of items with an orderable characteristic called an item's ______________ .  The three operations supported by a priority queue are (list them).
3. Heaps provide an efficient implementation of the priority queue operations, and also form the basis for yet another sorting algorithm, heapsort.  Define a "heap".  Pay special attention to the two defining requirements, "completeness" and "parental dominance."
4. If T is an essentially-complete binary tree with n nodes (n > 0), then height(T) = __________________ .

5. Where do we find the largest (highest-priority) element of a heap (drawn as a tree)?

6. Where do we find the smallest (lowest-priority) element of a heap (drawn as a tree)?

7. If we implement a heap with an array H as shown on p.224, then the root will be stored at index ______.  Moreover, the parental node keys will be in the _______________________________ positions of the array, and the leaf keys will occupy the ________________________________ positions of the array.

8. If a parental node is stored at H[i], its left child will be at ______________ and its right child will be at _________ .

9. If a child node is stored at H[i], its parent will be at _______________ .

10. List the 3 steps, in order, for deleting the maximum from a heap.
11. Explain, briefly, the steps for heapsorting an array A[0..n-1].
